MCR 3U1 Simple Interest Worksheet

Complete all questions. Complete questions #4-10 on a separate sheet of paper

m 1. Express the following interest rates as (r) in the simple interest formula.

a)6% b)45%  ¢)1.25% d)0.85% e)32%

r=0.0k r=0c.04s8 0.0\ "= 0.0085 r=0.372
2. Express the following lengths of time a(t) in the simple interest formula.

a) 18 months b) 16 weeks c)88days d) 4 years e) 52 weeks

\ of = "
£.3 («%) +=g (L) Fg2 A=n e
3. Complete the following chart. =
Principal ($) Interest | Time Interest Total Amount
rate % Earned ($) (%)

T- 2000 (s.0u9)(R) 2000 4.5 3 months=3e | Do, 50 RO, 50
1 = 5%0 (0 005)(3)| 550 0.5 36 months=3..| .25 588, a5
L_ 320k (5e0x00i5)1500 1.5 MZa = M, 81daf 320 IA0.00
P- oo (00722 16%92) 4513, 89 7.2 16 weeks ~ 100 Heiz. 89

r= 3155 (2600 % 1.6, % 74 18 months 275 2775 ,00
P 557 (00615 ¥AP:HS [337.80]6.75 240 days 55 [AFTH. 20

- 1ast Lo * 65520 10000 (*22 VO /& % B | 6 weeks 125 0 135,00
b:O':(?aovo,o\a). 780 113 Ba ¢ 63&4,;9 58 28, oo .

@ ncde: 0,85 #0083z G55a 2018
4. $300 is invested for 2.5 years at 6% simpﬁ.- interest. How much interest is
eamed? T = 200 (0.06)(2.5) ). 85 g earned ig
H joterest-,

= A8
5. Joe borrowed $500 from his parents to buy an ipod. They charged him
r 2.5% simple interest. He paid them back in 14 fmonths. How much
interest did he pay them? How much did he pay them in total?
I= SDcC0.0'a.SgU‘-\ i) ':—{[I-\. 386 L 1'-\-\{,\—(,54—\.:3& < #(1.5% H‘:—% ﬁ\agf
6. Peter invested in a GIC that paid 3.25% simple interest. In 36 months, he A
earned $485. How much did he invest originally? Sz yrs.
P= 485 5 (00225 23) =P g4, 36 S he invested #4474, De.
7. What rate of simple interest is needed for $700 to double, in 3 years?
P="Too, T = 700 r="100 = (-100x) = 33.39,. Jion cade S 3%k s needed.
8. Kadeem'’s investment matured from $1300 to $1750. It was invested at a
simple interest rate of 4.25%. How long was it invested for?
P:z1300 T =450 +*= Y503 (1zce xc.cqzs)_'-_ g, = g\yemfs 53 clu.ys-
9. $4500 was invested at a 52 % simple interest for 300 days. How much
interest was earned? What was the total amount of the investment?
= Hgpo (p.05 315)x302 =2sS =198.%0 J . 2198 80 ‘o‘é%af}is*- -
10.$600 is invested at 4% simple interest for 2 years. S 6A% KT gmE
a) How much interest is earned? coolo oD (D = 4ug (qlecest -
) b) If the interest rate is doubled to 8% is the interest earned doubled? yes.
\ 4 ¢) If the time was doubled to 4 years, would the interest earned be doubled? Yes.



